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West Bengal State University
B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2014
PART-II
PHILOSOPHY - Honours

_ Paper- IV

( New Syllabus and Old Syllabus )
Duration : 4 Hours Full Marks : 100

Candidates are required to give their answers in their own words as far as practicable.
The figures in the margin indicate full marks.
e IS [HTe SR (o1l AR |
A9 AIBE S ores |

( New Syllabus )
Answer Q. No. 1 and any six questions taking two
from each of groups A, B and C.

> 72 oM 3 ool <5, 4 6 of 2ifefl (e wfl wta (i =S eicwg e frt |

Answer any five questions : 55,2:="10
@~ 2A5fo @rsa Ser i ¢
a) Symbolize the following :

SIS 9 ¢

(i) pifandonlyifq

p, M @3z @3 T g

(if) , g is a necessary condition for p.
g, p~93 SRMFE =S |
b) What is the difference between exclusive and non-exclusive disjunction ?

A @ s s12Q1-93 WK ATew (AT 2




c)

d)

€)

h)

i)
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Write two limitations of Existential Instantiation ( E.I. )
E.l Jifea 1 Mume Fgw | 7
What is truth function ? Give an example .
AT IIF A0 2 43 Twizael fam |

What is 'Indirect Proof (1. P. ) ?

2T 2 S FISE ACE 2

Translate the following sentence into Boolean notation and then express

in terms of Venn diagram :

There are white elephants.

fFeste afbee 36T e eom w@ confbraa e e 55 3
A S sz |

Explain with example the distinction between 'Statement' and 'Statement

Form' ?
TVIZITNZ AP G QAP -GF 2TSH - T |

If p. q is true, then determine the truth value of the statement form

(p=q).p.

I p. q T2, O0@ (p = q) . p-a7 Aepgen Fafad 21
What are two claims made by Mill about his methods ?
Mill f7 safoafE tE @ v ik oz o S ) ¢

Give the form of the Joint method of Agreement and Difference.

-SRI 2afen e o |
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Group - A
frete -
2. a) Answer the following questions : 3x2=6
e erefem Sag fim ¢

(i) ~ What is the negation of a tautology and why ?
92 Fose] AR Rew A1 A @R (@ 2
—re o (i)  What is the negation of a contingent statement form and why ?

Gl WoifSe AT Rermaiey o) @a2 @ 2

(iif) What is the negation of a self contradictory statement ? Why ?

93f6 FRCA AT Rem a2 @ 0

" b) Determine whether the following statement form is tautology, self-

contradictory or contingent by means of truth-table : 2x3=6
TP AR RCe TP FossTer, Fosfian A wiofes of fef o 3
) (p=q@) V (~p= ~q)
@ [(p=q).(p5p)] >(g.~q)

c) Test the validity of the folowing argﬁmeﬁt by truth table method. 3
HOPARTR ARy Neva Yfeba tawe! Fsa w0 |
(IVJ) > (1.J)

=(INGE Y . ~ (I.3)
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Construct formal proof of validity of the following arguments. ( Do not
use C.P.or L.P.) 3%x8=9

e gfeafm sereas (auer awe 4a | (C.P. 31 1.P. 923 41 AE@ 1)
Qb ) AT KL

(2)-lid oide ) M

3) ~KVN/..K>(M.N).

(ii) Ram will come if and only if Shyam or Jadu comes. If Jadu comes
then Ram will not come. Therefore, either Ram will come or if Jadu
comes then Shayam will come. i

AN WA A 93R (FIETE I > @l 1 ST | 9 T SN, SR A
SR A | TSR W A WA 31 AW A SN0 ©OrEga =7 $eia |

(iii) If the aeroplane had engine trouble, it would have landed at
Dum Dum. If the aeroplane did not have engine trouble, it would
have landed at Guwahati. The aeroplane did not land either at
Dum Dum or Guwahati. Therefore, the aeroplane must have
landed at Shaktigarh.

I e 3&E o Aece, ©ta O mme w1 fqamba g
FAAN A ARFCS!, O3 ©f (N2ABre Aree! | [ wswcn wieEl (s |
oA R s «feaics e |

Prove the invalidity of the following arguments by the method of
assigning truth values : 2x3=6

OIS oiwfon AL Fva Feafrm stager e e ¢

(i) Jo ((K>LY) (i) X=(yosz)
K>(~L>M) Y=s(~x.~2)
(LVM)>oN/..doN Z=(XV-~y)

Y i XNl
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What is counter example ? Explain with example. 4
IR FFRTAMCS 14 (BT A7V 27 |
Use truth-tree method to determine whether the following propositions

are consistent. 4
O oAmfSn ML Teva Il Heaifosyel Kot Rta e |

A—>2>CB —»C A A -—0C

Use truth-tree method to test the validity of the following :

HOMI ~rafore Frxre yfeba taxer R we |

Moriarty will escape unless Holmes acts. We shall rely on Watson only if
Holmes does not act. Therefore, if Holmes does not act, Moriarty will

escape unless we rely on Watson. : 4

ﬂﬁmﬁaﬁmmiﬁmmﬁww | S| SRR Toiw WS 4TS A,
e A I3 e A FCA | FoAR T (2 e A 6, O R G 5o
W = SR SAGA Sofg a3 |

Determine whether following statements are equivalent : 3 ‘
ORI et e R R e '

— (A —»B),A&—B.

Explain with an example the method of Conditional Proof. 3
b ST AT 2AEE Al »4%ifS a1yt a7 |

Prove the validity of the following argument by C.P. 4

C.P. ﬁﬂmmmﬁwﬁﬁsq&atawmqﬁm
(AVB) >(C.D)

(DVE) > F/..A> F




243 PHIA(HN)-04

c). Use the method of indirect proof to verify that the following statements

are tautologous. : el
AT 29 AHST ALY 4 I (@ WRFEARS el FosTe |
(1) Al BN BaC)

@ A=[A.(AVB)].

Group - B

et - 4

Test the validity of the following arguments by Venn diagram indicating the
mood and figure of each of them. s -3 xbi= 15

afelba S 8 HegH SrEe acx Ffeie Ieefm ceafbraa A= tags! [ % |

a) All worldly things are transitory, because no worldly thing is non-

material, and no material object is non-transitory.

7 ofefa Foow ARSI, IR @ AR T S-TT 77 93 (@ TG A
- RIS 7 | ‘

b) Only teachers were present in the seminar, some scholars were present

in the seminar. So some scholars are teacher.

@I PRk GifRmica Soifgs fee, g sitaame Gifsimica Soifge fet | fp@an
g 1T rws |

c) All glittering things are not gold. So, Gold is not only precious stone

because precious stone glitters.

55T FACEL G 2 1 | FOAR (IZ GFHG YETAI 4P F7 A JoIW 41 56T
RJ& '
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Explain with example the concept of 'class' and 'complementary class'. 5
THIZIPTREAN ‘T 93 “eifRsjas T a1 a6+ |

According to the Boolean interpretation, determine validity of the mood

'AAT', 6
AR TORPAICE 'AAT YfEBa tazre et e |

Give Boolean notation of the following sentences and represent them in

Venn diagram. 2x2
= fifeits Mrse Qs eem 302 confow saw a3 |
(1) People seldom know themselves
Fwifbe TF Fets o
(ii) No non-s are non-p.

@S- s - p |

Explain with example the principle of Universal Insfantiatlon. 3
TrrRaeiTE A R8I0l Rl i v |

Construct formal proof of validity for the following arguments. 3x4
va IEafem Sieree e a5 s |

M (1) (0 [Ax>(Bx.Cx)]

(2) (3x)(Ax.Dx)/.. (3x)(Bx.Dx)




a)

b)

(ii)

(iii)
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Gold is valuable. Rings are ornaments. So gold rings are valuablefs

ornaments.

G eI | SG 205 S1ZA | o AR ST 205z SEnaW 1%l |
Wolfhound and Terriers are hunting dogs. Hunting dogs are
domesticated animals. Domesticated animals are gentle and useful.

Some Wolfhounds are neither gentle nor small. So, some Terriers

are small but not gentle.

Wolfhound 932 Terriers M@l 339 | BT $a Jeifero o | sjzoiifere
oE I 932 B2 | fF% Wolfhound *I§ Al (@ @02 77| ok o7
Terrier (26 5% *% 7 |

Symbolize the following sentences by using quantifiers, variable etc.

s

fsfafie amofce W, afeass-9g AYE ASIHITS T |

(i)

(i)

(iii)

All boys and girls of this class are meritorious
| 9% FICT I (2 I8 (0 Wiy

No car is safe unless it has good brakés

IR oTG1-Z aiem 7 3 Al ©1 ©fet (I A

Men and men alone are rational.

A 3R GG WAL Jfaqfe 7=l |

Determine the invalidity of the following arguments by the method of

truth value assignment. 3x3

HOIeT) SNCANA 2l Frsre Yfewfm sitags) e s ¢

(1)

(x) (Hx> ~Ix)

(Fx) (Jdx . ~Ix) [:.(x) ( He5dx)
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(ii)

(iii)
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"Some thing is round. Some thing is square. So, there are round

squares.

@ (PR IE (N | (P (IR IZ I50Fa | JoAR (NEAPIF IATHG R
|

There is nothing made of tin that is not cheap. No rings are made
of lead. Not everything is either tin or lead. Therefore, not all
rings are cheap.

B Fife v (oW R58 iR T 1 71 | (W WG Ap [ife 71 | 9w
FAC, 72 g2 20 B et A1 | o1 e wifBE 7w 77 |

Group - C

et -2

Discuss critically Mill's method of Concomitant variation as a method of proof

and a method of discovery. 156

WIRHR Q3L AR AFfS el WieTa 72oARIS safs AR Seepa s |

11; What is Hypothesis ? Critically examine the criteria of evaluating hypothesis.

3+12

AT IILT ACE ? A4 WefCma TRmesf FRE1 SN 3 |

12. Write short notes on the following : 2x7—=15

FnfaReulem Som Ay Tt foga

(i) Scientific explanation

@R an

(ii) Crucial experiment.

A o1 |




13.

Calculate the probability of the following cases :

MNwa craalm Terre! Ay w3

(1)

(i1)

(iif)
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i \

What is the probability of getting at least one 1 in two tosses of a dice ?".

@3B FCTIA LRI 1A T e TBS G () S AGRTS! IS ?

There are 6 yellow balls, 12 blue balls and 18 red balls in a box. What is
the probabmty of getting three balls of the same colour in drawing three
balls from the box (a) If each ball is returned before drawing the next

ball, (b) if no ball is returned before the next draw ?

9l g 6 B 2o 791, 12 B Mot 751 @3k 18 B @ 33 =g | Al (A fomf
39 gerret fofbaR arae 2eAR TS T (a) AW =SB o T sfraw Tl
(ORI WA (FIL (ST W (b) (P (M 77 #HT37 =1 (Ol Weol (e 1

@S ?

What is the probability of getting either a spade or the ace of diamond in

drawing a card from a deck of playing cards ?

936 O A (A 93T O Pret el o THIAE WA FROA (GF! 26T

AVRTS| F© ?
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( Old Syllabus )
Answer question no. 13 and any six questions taking two from each
Group A, B and C.

waawwﬁnﬁ&:aaas,ax,ﬂﬁwﬂaﬂ%ﬁcwzﬁmmwﬁma@mf‘w

Group - A
faeis - =
€ a) Translate the following sentences into standard form of categorical
propositions : 4 x1=4
s DYAT sfie arefae sl s Racss v weiieRie o ¢
§( \ (i) Things made of glass are fragile
e\ & 5 4 1o foeor o
(ii) There is nothing made of tin that is not cheap
for ffife @sm o e % 1 s
(iii)  Only some students are players
(91 oy @ =W (AeTarS
(iv)  There are white elephants.
Al RS SR |
b) What do you mean by distribution of terms in a proposition ? Illustrate

the distribution of terms with reference to four categorical propositions .

3+4

TR AT ANATS! Ie7Ce F (@R 2 BT SHoF 5 SrHY ICA SHIZADNZ
ATHR ANATS! APIRT F |
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c) Give the contrapositives of each of the following. 2’ X < AVID 27
firste arefm TRaRSe e fim ¢ "
(1) All students are patriots
e B T FOIE
(ii)  Children are present..
Rrol o |

What is contradictory opposition of proposition ? Why are the contradictory

opposition of proposition only accepted in Boolian logic ? 3+ 12
A fAws RaiEel FE 906 ¢ 8 O S B e [RrafieR g 9o

= ?

Transform the following arguments into standard form of categorical syllogisms.

Mention their figure and mood and then prove their validity by Venn diagram.

3 % b5=ulb

e g ol SImEa Facems i eem T | Oite g ¢ IS Tra T
conibraa AR Jfeafa tars! Roe s |

(i) Some children are not considerate, because all children are self-‘

centered, and no self-centred person is considerate.

@R (@ s REss T3, S e Pe3 SN, Ok (R e e
facase 79 | '

(ii) No snakes fly. Some snakes lay eggs. So some creatures that lay eggs do

not fly.

@ 9B ST Al | (I @ A o AICE | FodR @R (@R G- =1 fest #Miee, o
ST Al |
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(iii)

4 a)
b)
ATOYAT S
/,\’(, e ” .\
N X
-~ _Xn \\
= =
(X ( c)
aQ R | &
=\ 4,9 ' /
' \y/
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EAE — 2nd figure.
EAE —R3 ¥ZF |
What is existential fallacy ? Give an example. 3

el (AT PIF AceT 2 Twizad e |

Explain with the help of symbolic examples, the difference between pure

and mixed hypothetical syllogisms. 4

Afod TR AYE) fid ¢ wfsi 2w g 2N g s |

Identify the form and test the validity of the following arguments.
2x4=8

Fsferfie yfeafm e (W ¢ Tage! s 34 |

(i) Copernicus is right only if Ptolemy is wrong. But, Copernicus is

not right. Hence, Ptolemy is not wrong.

@RRER wEe 1 gaNE SEfl aw = | g @eREen SEs W |
FoAN Brefi are w |

(ii) The strange is either a knave or a fool. He is a knave. So, the

stranger is not a fool.

WG 2 46 T @R | (1 930 45 (AT | TSR g (P 7 |
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help of examples.

THZAeE It @3 SIS SIeRr-a3 A RiA |

b) Determine whether the following propositional forms are tautology, self-
contradictory or contingent by truth-table. 3+3

FOPRTI AW Reue wawsia Foste;, Fosfian 7 wwfes o Fda 32 |

W p>[p>(p>op]
) (p=q)V(~-p=-~q)
c) Test the validity éf the following arguments by truth-table. 3+3
W%Wﬁmﬁqﬁmﬁmh@ﬁmw:
@ A/.Bv~-B '
(ii) GADB. ( BOE)

~Av~B /.. ~Bv C
6. a) Construct formal proof of validity for the following arguments : 3 x 4 = 12
e Yfeafer iR (aeor awe a3
(1) (Ov~0)DW /.. W

(ii) Bananas and grapes are fruits. Fruits and vegetables are
nutritious. So bananas are nutritious.

Tl @R TIGT [ Te I‘«Fﬁ’uﬂﬁ(ﬂ@fﬂw | R el [F FYPFA |
(iii) (x) (Fx > ~Gx)

(@x) (Hx.Gx) /.. (3x) (Hx .~ Fx)
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State and explain the limitations of the rule Existential Instantiation

(E.L) 3
.1 e Manraerafe Sravasies aney ww |

Symbolize the following sentences by using quantifiers, variables etc. :

Ix2=06

fefeie armafecs i, ares 2onfia AR Mo e e oo ¢

(1) Jackson is a gopd singer
ST Qe HAAE

(ii) Some authors are successful but not well read
g =133 7w o Fpsifee am

(iii) A girl will win if and only if she is lucky.
IR (I &1 20 A 932 @@ W o wread) 23 |

Determine the invalidity of the following arguments by truth value

assignment. : 3 x3:=9
T WA 2 e yfeafr Wawm&a«z
(i) A B) . (C 5D)

A€

(BVD) > (E.F)

-E S (= o G)

G 5 (A>HY 15 H
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(M) (0 (Tx>Cx) \
(x) (Rx > ~Lx)
@A)~ (Tx VLx) /. D) (R =Cx}.
(iii) Only lawyers and politicians are members. Some members are

not college graduates. So some lawyers are not college graduates.

(@I G 938 ABSRWAR W) | [Py 70y FETe JeF w1 |

o1: g WS FTETe 0S|

a) State and explain with examples rules of the method of resolution. 7

TIRReRTE AgPACR Mamefe Srare Fww 938 A1 A |

b) Test the validity of the following arguments by the method of resolution :

agEac afen A Frme el eyl o w5 ¢

(i) [p.(q:)r)]/.'.pD(qu)

(ii) potg -ty tp2g).-(pIrk
-Group - C

faeret - ot

2x4=8

Discuss critically Mill's method of agreement as a method of proof and a method
15

of discovery.

oIfsia Q32 AT TaS ﬁﬁﬁmwﬁ%ﬂﬁmww |
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10. Explain, with examples, the seven stages of the scientific method. 15
A@iE afor Ao T3 1RiwTE AL 394 |
1. Write short notes on the following : 2x 7% =15
- Aefre Sl g e
N ' '
| :\.‘/ Y \\ ' \\ (i) Analogical arguments
Bt
2.; \ ': /& /
\ AR / Tomrgfe
;/", \\‘-/4/9
W CER
\—/ (ii) Crucial Experiment.
e o1 Tl |
12. Calculate the probability of the following : 3 x5=15

e craefEm HERTS! Rl 3 ¢
(i) What is the probability of getting 'nine' in rolling two dice ?

qfo e oft Rews FacE 5 ST AVRTS! IO ?

(ii) What is the probability of getting Head each time if a coin is tossed

thrice ?
3 3w fomar Soiafites $otet 2feams (2o AT FERTS! TS ?

(iii) In a book fair there are five entrances. Three friends have come to visit
the book fair. What is the .probablllty of their entering the fair by the

same entrance ?

@36 BTN AT errzioix A1 AT | CET (TS P fomem 393 938 ATa=io(2
ﬁmmww'e




13.
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Group r D
faetet -1
Answer any five questions : 5x2=10
@ o #Afofs arsa T e ¢
(1) What is statement form ? Give an example.

JTFIA ) 2 Trizad fue |

(ii) What is null class ? Explain with example.
el (AT e 2 SHIRAPTR I T |
(iii) What do you mean by class-product ?
| T wetwel JE0S F AR 2
(iv) What is dilemma ? Give an example.
oo 701 I T 2 Swiggel |
(V) If p.q =T then determine the trpth value of the statemem :
(p2q).(qDp)
Ifp.q=T W@ (pDq).(q S p )43 ey e 3% |
(vi) What is a tautologous statement form ? Explain with example.
FOIHE) ABNBIA FIE ACe 7 GHIRAPTZ IR P |
(vii) What is truth function ? Give examples.

sonerEs & 2 Gwizad fua |
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(viii)

(ix)

(x)
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Find a normal form equivalent to the following 3
AL HLRel BB TG 52 ¢

~AX) (CxD -~ bx )7

What is scientific explanation ?

@I A4l I qCe 2

Give the form of the method of concomitant variation.

AT Aafen S e |




